ta F 244 ofl 0= W™ Aldsior st A2 ol AdY

@ 19928 @ 336+14 @ 224+7

@®)42.3 + 18 ® 852+6

20 WeAlS g Hroj" o] 2] 2] 9o W Lol X = 429
A2 ok £ Ao 0°0] A& = A= ABZbste] ALbet
=4

@ 19.92 + 8 =249

@336+14=24

®2.24+7=0.32

@ 42.3+18 =235

L g

®852+6=1.42




& % Uro] WolA)A] gk UFeAlS B 1242,

® 0.84+3 @ 53.29 + 18 ® 0.28+8

@ 38.46+5 ®)16+6

~&B

D 0.84+3=0.28

® 53.29+18 =2.960---
® 0.28 +8 = 0.035

@ 38.46 + 5 = 7.692

® 16 + 6 = 2.666 - - -




SR W bY 2 5

o A

rr

O 0.418 @ 0.374 ® 0.399 @0.542 ® 0.289

5

B

@ 0.428 — 0.4

@ 0.374 - 0.4

@ 0.399 — 0.4

@ 0.545 — 0.5

® 0.289 — 0.3

whehA] A EA Ao A HE
Ayt

243S o 71 5 0.542




4. e Be) 2% 2 A £A7E 08 AL o= AYY7N

® 1.68+38 @5.4+5 ® 321+3

@ 126+9 ® 153+6

D 1.68+8=0.21
@®54+5=1.08
® 32.1+3=10.7
@ 126+9=14
® 15.3+6 =255




TS LPelo] A4 02 SHLE A o] A7

3.72+12
® 31+4+12=372 @ 31x12=3.72
® 3.1x12=23.72 @0.31 x 12 = 3.72

® 0.031x 12 =3.72

B

3.72+12=10.31
U Z]71 0 91 WAl o] HabAl 2

(F)x (Hre ) = (HFolAle &) dYth
wabA 3.71 + 12 = 0.31 &) AAMALS

0.31x 12 = 3.72 YU},




@? ®§0 3)18 =8
@ 89+5 ® e

®;=5+7=0.714---

@z:7+5:1.4
5
@ 18+8=2.25
@®89+5=1.78
5

50
@70 5 5+7=0.7




® 21.6+6

@ 26117

B

@ 1528 +4

D21.6+6=36
@ 27.36 + 8 = 3.42
® 1528 + 4 = 3.82
@ 26.11+7=3.73
®195+5=39




8.

2

3

the 2% F 42 947 Apole] 9k 48 BEF 1A,

7

@® 4.28 @

8

3 4.385

i~
=~ Do

3

8

_r_

@ 1381 (G)a352

:?:30%7:4.285“
:%:35+8=4.375
% Apole] Sl

2= 4.3 7} 4.352 4t}




9. 3583754 AlE #F4E ol AYU

1 4 18
o3 @3 @F o7 03

B

1 25
3= =2 =25+8=23.125
O 8 8
4 19
3-="-=19+5=238
@ 5 5
18
@E:18+5:3.6
1
@£:10+3:3.33-~
3 24
32 == =924+7=23428---
© 77
3.59}3.75*}014”“ %Mﬂr




10.

1
oA Zlm o131 2134 lkm ol A Aol £ 10

2 ?F S (7h Aol AR L}‘j = Q%GHEP. AR L= Aol A

71
L

0 %km 1 (k)
® 0.21km @0.41km ® 0.9km
@ 0.24km ® 2.31km
% =02, % = 0.5 0|22 T 2 Ato]9] A= 05-0.2 =
0.3(km)

10 52 5} 0.3 = 10 = 0.03(km) °] 2 & Aty} R FHojlA
0.2 4 0.03 x 7 = 0.41(km) BoiZ 3Lof 5t




